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{dÚmÏ¶m©Mo Zmd - ................................................. 
      

grQ> Z§~a -	      	  3‘hm.Q>°b|Q> gM© narjm, OiJmd B¶Îmm {Vgar  

CÎmao Zm|X{dÊ¶mnydu Imbrb gd©gm‘mÝ¶ gyMZm dmMm.¶m gd© ‘mÜ¶‘m§gmR>r gma»¶mM AmhoV.
1) 	 gdm©V ‘hÎdmMr gyMZm {‘imbobr àíZn{ÌH$m hr Amnë¶mM dJm©Mr ( 2 ar Mr ) Amho H$s Zmhr ¶mMr ImÌr 

H$amdr. narjm Pmë¶mda doJù¶m dJm©Mr AJa ‘mÜ¶‘mMr àíZn{ÌH$m ~XbyZ nwÝhm narjm KoVbr OmV Zmhr. 
(CÎmao H$mù¶m C‘Q>Umè¶m ~m°bnoZZoM N>m¶m§[H$V H$amdrV.) 

2) 	 ‘w»¶ narjoV àíZn{ÌH$m {‘iÊ¶mAmYr Vwåhmbm Vw‘Mo Zmd, grQ> Z§~a, ‘mÜ¶‘ d H|$ÐmMo Zmd [b{hbobr 
CÎman{ÌH$m {‘iVo. grQ> Z§~a d Zmd ¶mda H$moUVrhr {Jadm{Jad AJa ImS>mImoS> H$ê$ Z¶o. {Jadbobo AJa 
ImS>mImoS> Ho$bobo Zmd qH$dm grQ> Z§~a g§JUH$mbm dmMVm ¶oV Zmhr. n¶m©¶mZo Vw‘Mr CÎman{ÌH$m Vnmgbr 
OmUma Zmhr. CÎmao Zm|X{dVmZm CÎman{ÌH$m ’$mQ>Uma Zmhr ¶mMr H$miOr ¿¶m. CÎman{ÌHo$da CÎmam§Mo Jmob N>m¶m§{H$V 
H$aÊ¶m{edm¶ H$mhrhr {bhÿ ZH$m, ImS>mImoS> H$ê$ ZH$m AJa H$moUVmhr S>mJ nSy> XoD$ ZH$m. CÎman{ÌHo$bm KS>r 
nSy> XoD$ ZH$m.

3) 	 ¶m àíZnwpñVHo$V ^mfm (‘amR>r) d J{UV - ^mfm ( B§J«Or ) d ~w{Õ‘Îmm Ago H«$‘mZo EHy$U 100 àíZ AmhoV. 
CÎmao {b{hÊ¶mnydu {dÚmÏ¶mªZr Vo nyU© 100 AmhoV H$s ZmhrV ¶mMr àW‘ ImÌr H$ê$Z ¿¶mdr. àíZnwpñVHo$V 
H$moar nmZo AJa AÝ¶ H$mhr Xmof Agë¶mg àíZnwpñVH$m n¶©dojH$m§H$Sy>Z bJoM ~XbyZ ¿¶mdr. narjoZ§Va Vr 
VH«$ma J«mø Yabr OmUma Zmhr.

4) 	 CÎmao Zm|X{dÊ¶mgmR>r ñdV§Ì CÎman{ÌH$m Amho. Vwåhr Zm|X{dUma Agboë¶m CÎmam§Mo dV©wi nyU©nUo H$mù¶m 
C‘Q>Umè¶m ~m°bnoZZoM N>m¶m§{H$V H$am. EH$m àíZmgmR>r EH$mM CÎmamMm n¶m©¶ N>m¶m§{H$V H$am. AY©dQ> N>m¶m§{H$V 
Ho$boë¶m qH$dm dV©wimÀ¶m ~mhoa N>m¶m§{H$V Ho$boë¶m dV©wimbm JwU {Xbo OmV ZmhrV. dV©wimMr H$S>m d AmVrb 
nyU© ^mJ N>m¶m§{H$V Ho$bm Jobm nm{hOo. 

5) 	 àË¶oH$ CÎma H$miOrnyd©H$ d ImÌr H$ê$Z Zm|Xdm. H$maU EH$Xm Zm|X{dbobo CÎma ~XbVm ¶oUma Zmhr. H$moUrhr 
Vwåhmbm doJù¶m nÕVrZo CÎmao Zm|Xdm¶bm gm§{JVbr Var Ë¶m§Mo EoHy$ ZH$m. CÎma Zm|X{dÊ¶mMr ¶mo½¶ nÕV 
Imbrb à‘mUo Amho

	 … CXm. àíZ 1            
6) 	Imbrbà‘mUo N>m¶m§{H$V Ho$bobr CÎmao J«mø Yabr OmV ZmhrV.
	 CXm.     CXm.     CXm.     CXm.     CXm.    
7) 	 CÎmamÀ¶m dV©wimV ~amo~aMr AJa MwH$sMr (   )   (   ) IyU H$ê$ ZH$m.
	 CXm.           CXm.        
8) 	 narjm gwê$ AgVmZm H$moUmerhr ~moby ZH$m AJa H$moUmÀ¶mhr CÎmamMr H$m°nr H$ê$ ZH$m. Ago Ho$ë¶mg Vwåhmbm 

narjmJ¥hm~mhoa H$mTy>Z Q>mH$Ê¶mV ¶oB©b. 9) CÎman{ÌHo$da ghr H$am.AÝ¶Wm Vr Vnmgbr OmUma Zmhr. 10) 
n¶©dojH$m§Zm àíZm§Mm AW©, CÎmao qH$dm H$mhrhr {dMmê$ ZH$m, Ë¶m§Zr H$moUmbmhr CÎmao gm§JÊ¶mMm à¶ËZ 
Ho$ë¶mMo Vwåhmbm AmT>ibo Va H|$Ðg§MmbH$m§H$S>o bJoMM VH«$ma H$am. 11) àíZnwpñVH$m d narjoMo AmoiInÌ 
{ZH$mbmn¶ªV OnyZ R>odm. 12) narjm hm°b‘Ü¶o ‘mo~mB©b d H°$ë³¶yboQ>a dmnaÊ¶mg nadmZJr Zmhr. 13) narjoMm 
{ZH$mb www.mtsjalgaon.co.in ¶m g§Ho$VñWimda bmJVmo. ¶m~m~V H$moUrhr ’$moZ H$ê$ Z¶o. 14) 
narjobm OmJoA^mdr O{‘Zrda gwÕm ~gmdo bmJVo. Ë¶mgmR>r AmgZnÅ>r, n°S> gmo~V ZoUo Amdí¶H$ Amho.

df© 23 do
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à.01 	 C§Q>mMr ‘mXr H$moU ?
 	 j C§Q>rU 	 k C§Q>Ur 	 l gm§S>Ur 	 m C§{Q>Ur
à.02 	 '‘mohH$' ¶m eãXmMr OmV AmoiIm.
	 j Zm‘ 	 k gd©Zm‘> 	 l {H«$¶mnX 	 m {deofU
à.03 	 JQ>mV Z ~gUmam eãX H$moUVm ? 
	 j ór 	 k ~mXbr 	 l {dhra 	 m njr
à.04 	 ‘r ‘moR>onUr S>m°³Q>a hmoUma ! ¶m dm³¶mMm H$mi AmoiIm.
	 j dV©‘mZH$mi 	 k ^yVH$mi 	 l ^{dî¶H$mi	 m MmbyH$mi
à.05 	 "amÌ WmoS>r ......... ’$ma.' åhU nyU© H$am.
	 j ^yVo 	 k Mm§XÊ¶m 	 l gm|Jo 	 m Vmao
à.06 	 JQ>mV Z ~gUmam eãX H$moUVm ?
	 j ñdV§Ì	 k naV§Ì 	 l ñdm¶Îm 	 m ñdmYrZ
à.07 	 S>m|JamVrb XJS>mV H$moabobo {eën åhUOo .........
	 j boUr 	 k KmQ> 	 l ~moJXm	 m ^y¶ma
à.08 	 AmnU JUnVrbm XþdmªMr ......... dmhVmo.
	 j OwS>r 	 k amg 	 l H$mS>r 	 m JÈ>r
à.09 	 àíZ H«$.4 ‘Ü¶o H$moUVo {dam‘{MÝh dmnabo Amho ?
	 j ñdën{dam‘ 	 k àíZ{MÝh 	 l CX²Jma{MÝh 	 m AdVaU {MÝh
à.10 	 Oa JmB©gmaIm = Jar~, Va Hw$Í¶mgmaIm = ?
	 j b~mS> 	 k B©‘mZXma 	 l XoIUm	 m bmiKmoQ>çm
à.11 	 hÎmtZm R>odVmV Ë¶m OmJobm H$m¶ åhUVmV ?
	 j nrbImZm 	 k A§~mar 	 l ‘mhÿV 	 m IwamS>o
à.12 	 ZmQ>H$ nmhÿZ .......... Q>mù¶m dmO{dë¶m.
	 j H$bmH$mam§Zr 	 k d³Ë¶m§Zr 	 l lmoË¶m§Zr	 m àojH$m§Zr
à.13 	 AewÕ eãX AmoiIm.
	 j ‘m{gH$ 	 k narK 	 l g[aVm 	 m {d‘m{ZH$
à.14 	 ewÕ eãX AmoiIm.
	 j nwÏdr 	 k {nder 	 l ‘¡Ìo¶ 	 m ZwgH$mZ
à.15 	 JQ>mV Z ~gUmam eãX H$moUVm ?
	 j YS>YS> 	 k nS>PS> 	 l N>ZN>Z 	 m H$bH$b

nona n{hbm : ‘amR>r d J{UV (àíZ 1 Vo 50)
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à.16 Vo 20 JQ>mV Z ~gUmar g§»¶m AmoiIm.
à.16	  330   505  440  880

à.17	  31   41    51    61

à.18	  117  333  444  261

à.19	  835  484  727  558

à.20	  240  306  822  932

à.21	 gXþgï> hr g§»¶m gXþgï doim KoD$Z 
Ho$bobr ~oarO H$moUVr ?

	  67 � 67 	  67 + 67 	
 67 � 67 + 67	  67 ÷ 67

à.22 Vo 26 JQ>mer OwiUmar g§»¶m emoYm.
à.22	 322, 341, 216, ?
	  818 	  612 	

 432	  616

à.23	 (2,3,5,7),  (11,13,17,19), 

	 (23,29) , ? 

	  33,35,37 	  31,33,35 	
 31,37,39	  31,37

Q.16 to 20 Find the odd man out.
Q.16	  330  505  440  880
Q.17	  31    41    51    61
Q.18	  117  333  444  261
Q.19	  835  484  727  558
Q.20	  240  306  822  932

Q.21	 What is the sum of the 
number sixty seven, sixty 
seven times ?

	  67 � 67 	  67 + 67 	
 67 � 67 + 67	  67 ÷ 67

Q.22 to 26  Find the matching term.
Q.22	 322, 341, 216, ?
	  818 	  612  
	  432 	  616

Q.23	 (2,3,5,7),  (11,13,17,19), 
(23,29), ?

	  33,35,37 	  31,33,35 	
 31,37,39	  31,37

$H$ÀÀ¶m H$m‘mgmR>r OmJm.....
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à.24	 4, 16, 36, ?
	  26 	  64	

 30	  22

à.25	 8756, 9327, 4832
	  6612 	  6488	

 7321	  5221

à.26	 3216, 4138, 1236 ?
	  4419 	  5273	

 8004	  3397

à.27	 XmoZ g§»¶m§Mm JwUmH$ma 225 Amho. 
Ë¶mVrb ‘moR>r g§»¶m 25 Agë¶mg 
bhmZ g§»¶m H$moUVr ? 

	  2      6       9      8

à.28	 400 hr g§»¶m 220 nojm {H$VrZo ‘moR>r 
Amho ?

	  400 Zo 	  220 Zo	
 280 Zo	  180 Zo

Q.24	 4, 16, 36, ?
	  26 	  64	

 30	  22

Q.25	 8756, 9327, 4832 ?
	  6612 	  6488	

 7321	  5221

Q.26	 3216, 4138, 1236 ?
	  4419 	  5273	

 8004	  3397
Q.27	 The product of two number is 

225. If the largest number is 25, 
what is the smallest number ?

	  2      6       9       8

Q.28	 How much is the number 
400 greater than 220 ?

	  By 400 	  By 220	
 By 280	  By 180

$H$ÀÀ¶m H$m‘mgmR>r OmJm.....



{Vgar 328124 5 www.mtsjalgaon.co.in

à.29	 EH$m nwñVH$mMr qH$‘V 175 én¶o Amho d 
Xþgè¶m nwñVH$mMr qH$‘V Ë¶mÀ¶mnojm 25 
én¶m§Zr OmñV Amho Va XmoÝhr nwñVH$m§Mr 
qH$‘V {H$Vr ?

	  < 200 	  < 225	
 < 350	  < 375

à.30	 360 é.bm EH$ S>PZ noZ Va 10 noZm§Mr 
qH$‘V {H$Vr ?

	  <3600 	  <120 	
 <300	  <3000

à.31	 nmd hOma åhUOo {H$Vr ? 
	  250 	  750	

 500	  850

à.32	 ZD$eo ZD$ bm ZD$ Zo ̂ mJë¶mg ̂ mJmH$ma 
{H$Vr ?

	  0 	  101	
 909	  100

Q.29	 If the price of one book 
is Rs.175 and the price of 
another book is Rs.25 more 
than that, then what is the 
price of both the books ?

	  < 200 	  < 225	
 < 350	  < 375

Q.30	 If the cost of one dozen pens 
is Rs.360, then what is the 
value of 10 pens ?

	  <3600 	  <120	
 <300	  <3000

Q.31	 How much is a quarter 
thousand ? 

	  250  750  500  850

Q.32	 If nine hundred and nine is 
divided by nine, what is the 
quotient ?

	  0   101   909   100

$H$ÀÀ¶m H$m‘mgmR>r OmJm.....
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à.33	 EH$m KamMo Ka^mS>o 10000 é. hmoVo. 
^mS>oH$éZo 9750 é. {Xbo Va Ë¶mZo {H$Vr 
^mS>o H$‘r {Xbo ? 

	  <50 	  <150	
 <250	  <450 

à.34	 MwH$sMr OmoS>r AmoiIm. 

	  12  = AYm© 	  13  = nmD$U

	  
1
4  = nmd	  44  = nyU©

à.35	 5 � 5 + 5 � 5 = {H$Vr ?
	  150 	  250	

 50	  20

à.36	 Imbrbn¡H$s gdm©V ñdñV dñVy 
	 H$moUVr ?
	  25 é.V AYm©{H$bmo gmIa 	

 25 é.V 1 {bQ>a Vob
	  40 é.V EH$ {H$bmo nnB©	

 20 é.V nmd^a grVm’$i

Q.33	 The rent of a house is 
Rs.10000. If rental paid 
<9750 then how much less 
rent did he pay ?

	  <50 	  <150	
 <250	  <450

Q.34	 Identify the wrong pair.
     

1
2  = half   13  = three quarter

     14  = quarter   44  = complete

Q.35	 5 � 5 + 5 � 5 = ?
	  150 	  250	

 50	  20

Q.36	 Which of the following is the 
cheapest item ?

  An half kg of sugar at Rs.25
  Rs.25 per liter of oil.
  One kg. of papaya at Rs.40
  One fourth kg of custardapple
         in Rs.20

$H$ÀÀ¶m H$m‘mgmR>r OmJm.....
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à.37	 18 Mm nmT>m 9 Am{U ........ ¶m XmoZ 
g§»¶m§À¶m nmT>çm§Zr {‘iyZ V¶ma hmoB©b.

	  9 	  10	
 8	  2

à.38	 32000 ‘rQ>a añË¶mn¡H$s AYm© añVm 
V¶ma Pmbm Va {H$Vr añVm V¶ma Pmbm 
Zmhr ?

	  16000 {H$‘r 	  160 {H$‘r	
 16 {H$‘r	  1600 {H$‘r

à.39	 Zddf© {XZr a{ddma Agë¶mg Ë¶m 
OmZodmarV {H$Vr a{ddma AgVrb ?

	  4     	  5     
	  6     	  3

à.40	 Vw‘Mr MTS narjm Pmbr Ë¶m dfm©V 
’o$~«wdmarMo {H$Vr {Xdg ¶oVrb ?

	  28    29    30    31

à.41	 {Xbrn nmQ>bm§À¶m ³bmgbm 9 Zmoìh|~a 
Vo 15 {S>g|~a AIoa {XdmirMr gwQ>r hmoVr 
Va ³bmg {H$Vr {Xdg ~§X hmoVm ?

	  22   	  36   
	  37    	  38

Q.37	 The table of 18 can be 
prepared including the 
tables of 9 and ........ 

	  9      10    8      2

Q.38	 If half of the 32000 meter road 
is constructed, how much 
road is left constructed ?

	  16000 km	  160 km	
 16 km	  1600 km

Q.39	 If New year's day is Sunday, 
how many Sundays will there 
be in January ?

	  4      5       6       3

Q.40	 How many days of February 
will fall in the year in which 
your MTS exam. took place ?

	  28    29     30     31

Q.41	 Dilip Patil's class had Diwali 
holidays from 9th November 
to 15th December then for 
how many days was the 
class closed ?

	  22    36     37    38

H$ÀÀ¶m H$m‘mgmR>r OmJm.....
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à.42	 ......... {‘br åhUOo AYm©brQ>a.
	  250 	  500	

 750	  1500

à.43	 MwH$sMr OmoS>r AmoiIm.
	  1 eVH$ = 100 	
	  2 S>PZ = 24 dñVy
	  750 J«°‘ = nmd {H$.J«°.	

 6 {H$‘r = 6000 ‘rQ>a

à.44	 gmS>o~mam dmOVm KS>çmimMm {‘ZrQ>H$mQ>m 
Hw$R>o AgVmo ?

	  6  da 	  12 da	
 9 da	  12 d 1 À¶m ‘Ü¶o

à.45	 gdmVmgmMo {‘ZrQ> {H$Vr ?
	  60 	  45    
	  75   	  125

à.46	 1 OmZodmar 2024 bm gmo‘dma Amho 
Va 1 OmZodmar 2025 bm H$moUVm dma 
Agob ?

	  a{ddma 	  gmo‘dma	
 ‘§Jidma	  ~wYdma

Q.42	 ......... ml. is half liter.
	  250 	  500	

 750	  1500

Q.43	 Identify the wrong pair.
	  1 century = 100 
	  2 dozen = 24 items
	  750 gram = quarter kg.
	  6 km = 6000 meter

Q.44	 At half past twelve, where is 
the minute hand of clock ?

     On 6     On 12 
     On 9     In between 12 and 1

Q.45	 How many minutes of one 
and quarter hours ?

	  60     45   75   125

Q.46	 On 1st January 2024 is 
Monday, then on which day 
will be on 1st January 2025 ?

	  Sunday 	  Monday	
 Tuesday	  Wednesday

$H$ÀÀ¶m H$m‘mgmR>r OmJm.....
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à.47	 500 Am{U 225 ¶m§À¶mVrb A§Va 
	 {H$Vr ?
	  725 	  275	

 250	  375

à.48	 ¶mVrb EHy$U Mm¡H$moZ {H$Vr ?
	  10 	  20
	  30	  40

à.49	 EH$m am§JoV 45 ‘wbo Aem 45 am§Jm§‘Yrb 
EHy$U ‘wbo {H$Vr ?

	  45 � 45 	  45 + 45	
 45 - 45	  45 ÷ 45

Q.47	 What is the difference 
between 500 and 225 ?

	  725 	  275	
 250	  375

  Q.48   How many rectangles are 
there in the figure ?

	  10    20     30    40

Q.49	 45 childrens are in a row, 
What is the total number of 
childrens in 45 rows ?

	  45 � 45 	  45 + 45	
 45 - 45	  45 ÷ 45

$H$ÀÀ¶m H$m‘mgmR>r OmJm.....

à.50	 H$moUË¶m ‘memMr qH$‘V gdm©V OmñV Amho ?
Q.50	 Which fish shows the largest value ?
	

18 XeH$
18 tens

15 XeH$
15 tens

40EH$H$
40 ones5 eVH$

5 hundred








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PAPER-II : LANG. & INT.  (Q.51 to 100)
Q.51 	 Choose the correct homophones --
	 February is the time of the year when many people get cold 

and ......... 
	 j flew   	k  flue     	 l flu	 m flyu
Q.52 	 Choose the correct spelt word.
	 j Stomach   	k Stumach     	l Stomoch	 m Stommuk
Q.53 	 If your friend fell off his cycle and injured himself. Where would 

you take him ? 
	 j Police station   k School     	l Office	 m Hospital
Q.54 	 Which animal gives us eggs ?
	 j Bee   	k  Hen     	 l Cow	 m Sheep
Q.55 	 Who among the following was the President of India ?	

j k l m

Q.56 to 62 	In each of the following groups of words, one word is 
grammatically different. Identify the word :

Q.56	 j peacock   	k  bull     	 l bee	 m dog
Q.57	 j niece   	k  lady     	 l aunt	 m host
Q.58	 j axis   	k  bases     	 l locus	 m leaf
Q.59	 j short   	k  large     	 l Bulky	 m massive
Q.60 	 j legal - illegal   		k  honest - dishonest
     	 l moral - dismoral	 m lucky - unlucky
Q.61	 j foal   	k  cub     	 l fawn	 m frog
Q.62	 j Bee - hive   k bird - nest  l spider - shell	 m mouse - hole
Q.63 	 Choose the word indicating the sound of Dog.
	 j cackles   	k  chatters     	l caws	 m barks
Q.64 	 Find the correct word that shows collection or group.
	 grapes :      j bunch    k clump     l bundle	     m group
Q.65 	 Our new house needs some furniture, so Papa has called a ......
	 j plumber   	k  blacksmith 	l astrologer	 m carpenter
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à.66 Vo 71 Imbrb àË¶oH$ JQ>mV Z ~gUmao nX 
AmoiIm.

à.66	 j 109  k 131 l 802  m 604
à.67	 j 484  k 264 l 444  m 326
à.68	 j gm¶br 	 k {Z{H$Vm 	

l gw{ZVm	 m Ad§{VH$m
à.69	 j ^maV 	 k lrb§H$m 	

l nm{H$ñVmZ	 m OnmZ

Q.66 to 71 Find the odd man out.
Q.66	 j 109 	 k 131 	

l 802	 m 604
Q.67	 j 484  k 264  l 444  m 326
Q.68	 j Sayali 	 k Nikita 	

l Sunita	 m Avantika
Q.69	 j Bharat	 k Srilanka 	

l Pakistan	 m Japan

à.70	 j 	                k 	                 l	                  m 

à.71	 j 	                 k 	               l	               m 

	

à.72	 e§VZybm VrZ H$mH$m AmhoV. Ë¶mMo EH$ 
H$mH$m ‘w§~B©bm amhVmV Va ‘w§~B©À¶m 
H$mH$m§Zm {H$Vr ^mD$ AmhoV ?

	 j 2 	 k 3 	
l 4	 m 1

à.73 Vo 78 g‘mZ g§~§Y emoYm.
à.73	 ‘o :  Owb¡  ::  Am°JñQ>  : ?
	 j {S>g|~a	 k OyZ 	

l E{àb	 m Zmoìh|~a

à.74	 VéU :  åhmVmam  ::  AmOr>  : ?
	 j AmOmo~m	 k ‘mOr	

l AmOm	 m nmOr

Q.72	 Shantanu has 3 uncles. One of 
his uncle lives in Mumbai. How 
many brothers has to his uncle 
living in Mumbai ?

	 j 2   k 3      l 4    m 1

Q.73 to 78 Find the same relation.
Q.73	 May  :  July  ::  August  : ?
	 j December	 k June 	

l April	 m November

Q.74	 Young :  Old  ::  Former : ?
	 j Grandfather	 k Existing	

l Grandpa	 m Papaji 

à.75	
: ?:: :

j  
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à.76	 ?

j k l m

 :  ::  : 	

à.77	 88  :  46  ::  72  : ?
	 j 41     k 74    l 36   m 144

à.78	 393  :  166  ::  482  : ?
	 j 111 	 k 626 	

l 529	 m 862

à.79	 n Z H $b n Z b n Z H$ b H$ b Z n 
¶m Aja‘mboV gdm©V H$‘r doim Ambobo 
Aja H$moUVo ?

	 j n       k Z     l H$     m b

à.80	 EH$m gm§Ho${VH$ {bnrV C§Xambm ‘m§Oa, 
‘m§Oarbm Hw$Ìm, Hw$Í¶mbm H$moëhm d 
H$moëømbm C§Xra åhQ>bo Va Ë¶mM ^mfoV 
amZQ>r àmUr H$moUVm ?

	 j C§Xra 	 k ‘m§Oa 	
l Hw$Ìm	 m H$moëhm

à.81	 Oa 796 bm 976 Va 527 bm H$m¶ ?
	 j 752 	 k 725 	

l 257	 m 275

à.82	 42, 57, 33, 88, 67 ¶mVrb gdm©V 
bhmZ g§»¶oVrb A§H$m§Mm JwUmH$ma {H$Vr ?

	 j 8 	 k 9 	
l 35	 m 56

à.83	 5 8 4 6 4 8 9 8 4 7 8 6 6 4 7 4
	 ¶m A§H$‘mboV 8 Z§Va bJoM 4  {H$Vr doim 

Ambo AmhoV ? 
	 j EH$Xm 	 k XmoZXm 	

l VrZXm	 m MmaXm

Q.77	 88  :  46  ::  72  : ?
	 j 41   k 74     l 36   m 144

Q.78	 393  :  166  ::  482  : ?
	 j 111 	 k 626 	

l 529	 m 862

Q.79	 a p k r a p r a p k r k r p a - 
which letter has occured the 
least time in the letter series ?

	 j a     k p      l k       m r

Q.80	 In a code language, mouse is 
called cat, cat is called dog, dog is 
called fox and fox is called mouse. 
Then which is the wild animal ?

	 j Mouse 	 k Cat 	
l Dog	 m Fox

Q.81	 If 796 to 976 then 527 = ?
	 j 752 	 k 725 	

l 257	 m 275

Q.82	 42, 57, 33, 88, 67 what is the 
product of the digits of the 
smallest No ?

	 j 8     k 9     l 35     m 56

Q.83	 5 8 4 6 4 8 9 8 4 7 8 6 6 4 7 4
	 In the number series, how 

many times 4 comes after 8 ?
	 j one time 	 k two times	

l three times	 m four times
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à.84	 gmo~VÀ¶m AmH¥$VrV g‘m{dï> EHy$U 
{ÌH$moU {H$Vr ?

	 j 6 	 k 7 	
l 8	 m 9

à.85 Vo 87 {Xboë¶m ‘m{bHo$V H«$‘mZo H$m¶ ¶oB©b ?
à.85	 H$IJ, H$mImJm, {H${I{J, H$rIrJr, ?
	 j MrN>rOr	 k Hw$IyJy 	

l Hw$IwJw	 m Hy$IyJy

à.86	 560, 670, 780, ?
	 j 890	 k 990 	

l 450	 m 9100

Q.84	 How many triangles are 
included in the given figure ?
j 6 	 k 7 
l 8	 m 9

Q.85 to 87 What will occur in the given 
series ?

Q.85	 bcd, bacada, becede, bicidi, ?
	 j figihi	 k bocudu 	

l bocodo	 m bududu

Q.86	 560, 670, 780, ?
	 j 890	 k 990 	

l 450	 m 9100

à.87	

?

j  

*

*

*

*

*

* *
à.88	  Imbrb AmH¥$VrMr à{V‘m AmaemV H$er {Xgob ?  Q.88  Find the mirror image.
	

j  

à.90	 ~¡bmbm Amho nU JmT>dmbm Zmhr Ago 
H$m¶ ?

	 j H$mZ 	 k eonyQ> 	
l qeJo	 m S>moio

Q.90	 What is it ? A bull has but a 
does not have donkey?

	 j ears	 k tail 	
l horns	 m eyes

à.89	 Imbrb AmH¥$VrMo à{Vq~~ nmÊ¶mV H$go {Xgob ?  Q.89  Find the water image.	
	

   
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à.91	 Oo ’$º$ ‘mbH$ AmhoV Aem§Mr EHy$U 
g§»¶m {H$Vr ?

	 j 7     k 13   l 20   m 48

à.92	 Oo ‘mbH$ ì¶mnmar gwÕm AmhoV Aem§Mr 
EHy$U g§»¶m {H$Vr ?

	 j 17 	 k 50  l 33   m 100

à.93	 Oo ‘mbH$ ‘OwargwÕm H$aVmV Aem§Mr 
EHy$U g§»¶m {H$Vr ?

	 j 20   k 21    l 11    m 27

Q.91	 How many persons are only 
owners ?

	 j 7    k 13    l 20   m 48

Q.92	 How many owners are also 
traders ?

	 j 17   k 50     l 33   m 100

Q.93	 How many owners are also 
workers ?

	 j 20   k 21   l 11    m 27

à.94	 32 18 14
66 24 18
64 82 ?

àíZ{MÝhmÀ¶m OmJr ¶oUmar g§»¶m H$moUVr ?
	 j 16   k 20    l 22    m 28
Q.94	 Which number will come in place of question mark ?
	 j 16   k 20    l 22    m 28

à.95 Vo 96 Imbrb ‘Zmoè¶mMo {ZarjU H$éZ ¶mo½¶ CÎmamMm n¶m©¶m§H$ N>m¶m§{H$V H$am.
Q.95 to 96 Study the given pyramid and find correct option number.
	 H$	 I	 J	 K	 M

	 Q>	 P	 O	 N>
	 R>	 S>	 T>
		  V	 U
			   W

                                     A	 B	 C	 D	 E
	 F>	 G	 H	 I>
	 J	 K	 L>
		  M	 N
			   O

à.95	 H$ I Q>  :  K M N>  ::  Q> P R>  :  ? 
	 j O N> T   	 k N> O T>
	 l P O S>    	 m T> N> O

à.96	 I P S>  :  S> P O  ::  Q> R> V  :   ?
	 j V W> S>>   	 k V R> S>>
	 l N> T> S>   	 m V S> R>>

Q.95	 ABF  :  DEI  ::   FGJ  :  ? 
	 j HIL  	 k IHL
	 l GHK    	 m LIH

Q.96	 BGJ  :  DHL  ::  GKM  : ?
	 j NKH   	 k HKN
	 l GKL    	 m LKN

à.91 Vo 93 {Xbobr AmH¥$Vr H$miOrnyd©H$ nhm d {dMmaboë¶m àíZm§Mr CÎmao emoYm.
Q.91 to 93 Study the given figure carefully. Find the answer of the given question.
	

  = Workers
 = Owners

   = Traders


 

 



11

12

  = ‘Oya
 = ‘mbH$

   = ì¶mnmar
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à.98	 EH$m am§JoV eaX S>mdrH$Sy>Z 17 dm Va 
COdrH$Sy>Z 25 dm Amho. Va Ë¶m am§JoVrb 
‘Yë¶m ‘wbmMm Z§~a {H$Vdm ?

	 j 40 dm   	 k 41 dm
	 l 21 dm   	 m 22 dm

à.99	 JQ>mer OwiUmao nX AmoiIm.
	 123,  444,  369,  234
	 j 345   	 k 658
	 l 435   	 m 268

Q.98	 In a row, Sharad is 17th from 
left and 25th from right. Find the 
rank of the middle student.

	 j 40   	 k 41
	 l 21   	 m 22

Q.99	 Find the matching term.	
123,  444,  369,  234

	 j 345   	 k 658
	 l 435   	 m 268

à.100 	 PmS>mnmgyZ Kar OmÊ¶mgmR>r {H$Vr doim COdrH$S>o dimdo bmJob ?
Q.100	 To go home from the tree, how many times will a person will take 
	 right turn ?
	


j 6 doim
k 7 doim
l 8 doim
m 9 doim

j 6 times
k 7 times
l 8 times
m 9 times

	     		             

à.97	 AnyU© AmH¥$VrV àíZ{MÝhmÀ¶m OmJr n¶m©¶mVrb H$moUVr AmH¥$Vr {Xem Z ~XbVm ~g{dë¶mg 
Vr AmH¥$Vr nyU© hmoB©b?

Q.97	 Which figure from the alternative will complate the incomplate figure 
in place of the question mark ?

	

 j                k	      l                m
	
	

?
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hr gyMZm Amåhr dmMbr Zmhr.bjmV am{hbo Zmhr.Ago H¥$n¶m gm§Jy ZH$m.
	 narjoZ§Va 10 Vo 15 {Xdgm§V ’$º$ EH$ ‘{hÝ¶mgmR>r {dÚmÏ¶mªZr gmoS>{dboë¶m CÎman{ÌH$m 
ñH°$Z H$ê$Z do~gmB©Q>da Q>mH$ë¶m OmVrb.Am‘À¶m CÎmagyMrV H$mhr Xmof Agë¶mg CÎmagyMr Omhra 
Pmë¶mnmgyZ 10 {Xdgm§Mo AmV ñnï>rH$aUmgh nmoï>mZo OiJmd H$m¶m©b¶mV boIr H$idmdo. ‘obda 
qH$dm ìhm°Q²>gA°nda nmR>dy Z¶o. Am‘À¶m CÎmagy{MV H$mhr Xmof Agë¶mg Vo Xÿa H$ê$ZM {ZH$mb V¶ma 
Ho$bm OmVmo. àíZM MwH$sMm Agob Va Ë¶mMo JwU gdmªZmM {Xbo OmVmV.Amnë¶m nmë¶mMr CÎman{ÌH$m 
S>mD$ZbmoS> H$ê$Z R>odmdr. nwT>o Ho$ìhmhr VH«$ma H$aVmZm {VMr qàQ> Amdí¶H$ AgVo. ¶m~m~V H$moUrhr 
’$moZ H$ê$ Z¶o. do~gmB©Q darb gyMZm dmMmì¶mV. Amnbm nmë¶ amÁ¶ñVar¶ JwUdÎmm ¶mXrV Amë¶mg 
Ë¶mÀ¶m ñH$m°baernMm AH$m¢Q>no¶r MoH$ Ë¶mÀ¶mM ZmdmZo EH$XmM {Xbm OmVmo. åhUyZ {dÚmÏ¶m©À¶m ZmdmZo 
~±Ho$V ImVo H$mTy>Z R>odm.Amåhr {Xboë¶m MoH$darb Zmd AJa VmarI ~XbyZ {Xbr OmV Zmhr. Amnbm 
nmë¶ H|$ÐñVar¶ JwUdÎmm ¶mXrV Amë¶mg Ë¶mbm Q´>m°’$s {‘iob. JwUn{ÌH$m, JwUdÎmmYmaH$m§Mo Q´>m°’$s d 
àepñVnÌ OyZ‘Ü¶o emim gwê$ Pmë¶mda 15 Vo 20 {Xdgm§Zr ñWm{ZH$ à{V{ZYr‘m’©$V emioVM {‘iVmV. 
¶m~m~V Amnë¶m ñWm{ZH$ à{V{ZYrer g§nH©$ H$amdm. Am‘MoH$S>o g§JUH$, B§Q>aZoQ> Zmhr, Amåhr {ZH$mb 
doioV nm{hbm Zmhr, Amåhmbm emioZo qH$dm H$moUr gm§JrVbo Zmhr hr H$maUo MmbUma ZmhrV. gdmªgmR>r 
EH$M {Z¶‘ Agob.doimodoir Am‘À¶m g§Ho$V ñWimdarb gyMZm dmMV ahm. 15 Am°JñQ> 2024 Z§Va 
¶m narjoMo H$moUVohr aoH$m°S>© CnbãY Zgob.{ZH$mb {‘imbm Zmhr Va àW‘ Amnë¶m ñWm{ZH$ E‘Q>rEg 
à{V{ZYter g§nH©$ H$am. Z§VaM Am‘MoH$S>o boIr VH«$ma H$am.gd© nÌì¶dhma nmoñQ>mZo AJa Hw$arAaZo 
Am‘Mo OiJmd nÎ¶mda H$amdm. ‘obda qH$dm ìhm°>Q²>gA°nda H$mhrhr nmR>dy Z¶o. narjoZ§Va {ZH$mbmn¶ªV 
H$moUrhr ‘mo~mB©bda g§nH©$ H$ê$ Z¶o. ¶m H$mimV ‘mo~mB©bda AZmoiIr Z§~a [a{gìh Ho$bo OmV ZmhrV. 
Ë¶m‘wio J¡ag‘O {Z‘m©U hmoVmV.

3

CÎman{ÌH$m ’o$aVnmgUr AO© Z‘wZm ( A§{V‘ ‘wXV : 28/02/2024 )
{dÚmÏ¶m©Mo Zmd -                                                        ~¡R>H$ H«$‘m§H$ -
narjoMo ‘mÜ¶‘ -                                          narjoMo g|Q>a -
nmbH$m§Mm KaMm nyU© nÎmm - nrZH$moS (Amdí¶H$)
nmbH$m§Mm ‘mo~mB©b Z§~a -
gmo~V OmoS>md¶mMr do~gmB©Q> dê$Z H$mT>bobr H$mJXnÌo -
(1) JwUn{ÌH$m, (2) {dÚmÏ¶m©Mr CÎman{ÌH$m, (3) Am‘Mr CÎmagyMr, (4) MAHARASHTRA
TALENT SEARCH PARIKSHA JALGAON ¶m ZmdmMm é.700/- Mm gaH$mar ~±Ho$Mm S>rS>r d
(5) ñdV:À¶m KaÀ¶m nÎ¶mMo {VH$sQ> Zgbobo nmH$sQ>, (6) narjoMo hm°b{VH$sQ>
¶mn¡H$s EH$hr H$mJX Zgë¶mg ’o$aVnmgUr hmoUma Zmhr. ’o$aVnmgUrV JwUm§V ~Xb hmoD$ eH$Vmo.
JwU H$‘rhr hmoD$ eH$VmV.dmTy>hr eH$VmV. JwUm§Mr dmT> Pmë¶mg é.700/- Mm hmM S>rS>r naV
Ho$bm OmB©b. ’o$aVnmgUr Z§Va {dÚmÏ¶m©À¶m CÎman{ÌHo$Mr a§JrV Poam°³g àV {Xbr OmVo.

         nmbH$mMr ghr                                                {dÚmÏ¶m©Mr ghr


